09165 RAM PRIMING UNIT

Key
1

N o= o 9

09495 PRIMER POCKET

SWAGER COMBO

Key  Part# Description

1 09485 Swager Body

2 09486 Swager Rod

2 09498 Swager Rod .223 Rem

3 09604 Lock Ring, 1/4-28

4 09487 Case Stripper

- 09488 Case Stripper Washer (for A-2 Press)
4 09489 Case Stripper for Big Max

4 09490 Case Stripper (for Ammo. Mstr. Single)
5 09483 Swager Head, Large

5 09484 Swager Head, Small

6 87505 Hex Lock Nut, 7/8-14

Part #
09471

09111
09175
87505
09176

Description
Primer Rod Assemblies ﬁ
(Lg.& Sm.)

Shell Holder Spring

Ram Priming Body g
Hex Lock Nut 7/8-14 7]
Primer Rod Holder

CC T ()

09580 AUTOMATIC PRIMER

FEED COMBO

®
Body : R\
Stop Pin
Coil Spring ‘
[l ﬁ Q )

OC\I\IO\LIILII&"»JI\)'—K
<
=

Part #
09598
09595
09596
09591
09581
09582
09599
09585
09586
09594

Description

Setscrew, 1/4-28x3/16 CP
Primer Tube Assembly, Lg.
Primer Tube Assembly, Sm.
Primer Tube Cotter Pin
Primer Pickup, Lg.

Primer Pickup, Sm.

Body Asseémbly (Includes part #'s 1,2.3.4)

09512 STANDARD PRIMING TOOL

Part #
09513
09111
09514
09518
09519
09520
09591
09522
09471

=0 % N U R — x
&

(=]

Description
Main Body Casting
Spring Clip

Handle Cam Assembly

Handle Cam Pin

Shell Holder Adaptor

Coil Spring

Setscrew. 1/4-28x3/16" CP
Adaptor Sleeve

Primer Rod Assembly (Lg & Sm)

NOTE: This product has
been discontinued and is no
longer available. Some
replacement parts are
available. Call or write

RCBS Customer Service
for information.
>
/

09525 BERDAN DECAPPING

TOOL

Key Part #
1 09526
2 09527
3 09528
4 09532
5 09533
6 09534
7 09509

Description

Handle

Head

Decapping Pin

Case Holder

Head Cross Pin

Allen Wrench 5/64
Setscrew 8/32 x 1/4 (2)



